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Date Interpretation Pie Chart Questions for Bank Exams.
DI Pie Chart Quiz 22

Directions: Study the following graph carefully & answer the questions given below it.

Pie Charts show the sale of 5 different companies in the year 2015 and 2016.

Total Sale (in 2015) = Rs 950000

Total Sale (in 2016) = Rs 800000




1. Find the average sale of company A, C and E in 2016.

A. Rs 176500 B. Rs 165920 C. Rs 189630 D. Rs 200000 E. None of these

2. Total sale of company B and C together in 2016 is approximately how much percentage
more than the sale of company D in 2015.

A. 20% B. 40% C. 60% D. 45% E.10%

3. If the profit earned by Company C in 2015 is 25% of the total sale, find the profit earned
by company Cin 2015.

A. Rs 45020 B. Rs 42750 C.Rs 50420 D. Rs 48960 E. None of these

4. In which of the following company the difference of the sale between 2015 and 2016 is
the highest?

A. Company B B. Company D C. Company E D. Company A E. Company C

5. What is the ratio of the total sale of company A and C together in 2015 to that of the total
sale of company D and E together in 2016?

A.580:661 B. 637 :652 C.529:623 D. 688 :627 E. None of these

Correct Answers:




Explanations:

1. Sale of company A in 2016 = 800000 x 19% = Rs. 152000
Sale of company Cin 2016 = 800000 x 22% = Rs. 176000
Sale of company E in 2016 = 800000 x 25% = Rs. 200000

152000 + 176000 + 200000
Reqd. Avg. = 3

528000
3

= Rs. 176000

Hence, option E is correct.

2. Sale of company B in 2016 = 800000 x 16% = Rs 128000
Sale of company Cin 2016 = 800000 x 22% = Rs 176000
Sale of company D in 2015 = 950000 x 22% = Rs 209000
_ 128000 + 176000 - 209000 y

9 100
%6 more 209000

95000
= 2220 100 = 45.45% =~ 459

209000 %= 45%

Hence, option D is correct.

3. Following the given charts, we get
Profit earned by company Cin 2015 = 950000 x 18% x 25% = Rs 42750
Hence, option B is correct.

4, Difference between the sale of company A = (800000 x 19% — 950000 x 15%) = Rs 9500
Difference between the sale of company B = (950000 x 25% — 800000 x 16%) = Rs 109500
Difference between the sale of company C = (800000 x 22% — 950000 x 18%) = Rs 5000
Difference between the sale of company D = (950000 x 22% — 800000 x 18%) = Rs 65000
Difference between the sale of company E = (800000 x 25% — 950000 x 20%) = Rs 10000

The difference of the sale of Company B between 2015 and 2016 is the highest.

Hence, option A is correct.

5. Sale of company A in 2015 = 950000 x 15% = Rs 142500

Sale of company Cin 2015 = 950000 x 18% = Rs 171000

Sale of company D in 2016 = 800000 x 18% = Rs 144000

Sale of company E in 2016 = 800000 x 25% = Rs 200000

Required ratio = 142500 + 171000 : 144000 + 200000 = 313500 : 344000 = 627 : 688
Hence, option E is correct.
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